OPTIONAL INTERGOVERNMENTAL PRICING:

This OPTIONAL PARTICIPATION PROGRAM would be for the use of ANY TAXING BODY in Kane County who should choose to be a party of this program wherever their location.

NOTE: The County of Kane will not be involved in purchasing Fiber Optic Support Services by any other intergovernmental unit (taxing body). The invoicing and payments would be entirely between the other intergovernmental units and the accepted Contractor. If the County of Kane accepts this bid, the procedure to handle joint purchases would be developed by the County of Kane and the awarded Contractor and then distributed to the other intergovernmental units by the Kane County Purchasing Department.

Signature Typed Signatur	e Rick Danca
Company Nat Tech, LLC	
Address 1350 W Washington St West Chicago IL 60565	
Phone # 630-851-7751 Fax # 630-230-3150	
Federal I.D./Social Security # 27-1094894 Dat	e 4/6/18

JOINT PURCHASING AGREEMENT:

Illinois revised statues, 1989, CH. 85, PAR. 1601 ET SEQ. (The joint purchases by governmental units act), authorized certain local government units and non-for-profit workshops for the severely handicapped (as defined in Illinois Revised Statues, 1989, CH. 127, PAR. 132.7-01, meeting the requirements of CH. 85, PAR. 1602.2) to purchase personal property and supplies jointly.

(30 ILCS 525/0.01) (from CH. 85, PAR. 1600) The Governmental Joint Purchasing Act. (Source P.A. 86-1324.)

(30 ILCS 525/1) (from CH.85; PAR 160') Sec. 1. For the purposes of this Act, "government unit" means State of Illinois, any public authority which has the power to tax, or any other public entity created by statute. (Source. P.A. 86-769).

(30 ILCS 525/2) (from CH.85, PAR. 1602) Sec. 2 (a) Any governmental unit may purchase personal property, supplies and services jointly with one or more other governmental units. All such joint purchases shall be competitive bids as provided in Section 4 of the Act. (Source P.A> 87-960.)

Any authorized local unit of government or qualified workshop that may participate in this contract shall be responsible for issuing purchase orders direct to vendor, processing invoice vouchers and making payments due the vendor. Cash on delivery terms without the consent of the local governmental unit is prohibited.

By submitting a bid, the awarded vendor agrees to extend all terms and conditions, specified and the quoted prices or discounts for the item(s) listed in this contract to all authorized local governmental units and qualified workshops.

III. <u>BASE BID:</u>

Description	Hour/Pay Type	Estimated Hours X	Hourly Rate Unit Cost =	Extended Cost
Project Manager	M-F	60	\$105.00	\$6,300.00
а	M-F>8	16	\$157.50	\$2,520.00
а	OSA	8	\$157.50	\$1,260.00
65	OSH	8	\$210.00	\$1,680.00
			Subtotal	\$11,760.00
Foreman	M-F	160	\$105.00	\$16,800.00
и	M-F>8	40	\$157.50	\$6,300.00
it	OSA	16	\$157.50	\$2,520.00
54	OSH	16	\$210.00	\$3,360.00
Subtotal				\$28,980.00
Equipment Operator	M-F	180		
(£	M-F>8	60		
66	OSA	20		
66	OSH	20		
Subtotal				
Field Technician	M-F	180		
cc	M-F>8	60		
п	OSA	20		
u	OSH	20		
			Subtotal	

Description	Hour/Pay Type	Estimated Hours X	Hourly Rate Unit Cost =	Extended Cost
Cable Splicer/Fiber Technician	M-F	160	\$92.00	\$14,720.00
15	M-F>8	80	\$138.00	\$11,040.00
st	OSA	28	\$138.00	\$3,864.00
65	OSH	28	\$184.00	\$5,152.00
			Subtotal	\$34,776.00
Laborer	M-F	160		
66	M-F>8	60		
	OSA	20		-
žē.	OSH	20		
			Subtotal	

BASE BID TOTAL:	\$75,516.00

Definitions:

M-F - Regular 40 Hour Work Week	M-F>8 - Overtime Rate for Normal Work Week
OSA - Overtime Rate for Saturday	OSH - Overtime Rate for Sunday & Holiday Work

IV. MATERIAL MARKUP FROM CONTRACTORS COST:

		New Material & Equipment Markup Percentage	New Material plus Markup Total Cost	
\$100,000.00	Х	15 % =	\$ 115,000.00	

MATERIAL MARKUP TOTAL: \$15,000.00

V. EQUIPMENT COSTS:

Equipment	Hourly Rate	Daily Rate	Weekly Rate
Pick-up Truck	\$12.00	\$96.00	\$480.00
Utility Truck	\$25.00	\$200.00	\$1000.00
Portable Generator – 40K	\$10.00	\$80.00	\$400.00
3" Water Pump	\$8.00	\$64.00	\$320.00
Fiber Optic Capstan Winch	\$25.00	\$200.00	\$1000.00
Equipment to Work in Confined Spaces	\$11.00	\$88.00	\$440.00
Optical Time-Domain Reflectometer (OTDR)	\$12.00	\$96.00	\$480.00
Single Fiber Fusion Splicer	\$17.00	\$128.00	\$640.00
Mass Fusion Splicer	\$18.00	\$144.00	\$720.00
Power Meter	\$9.00	\$72.00	\$360.00
Splicing Trailer	\$29.00	\$232.00	\$1,160.00
Locator (JULIE)	\$15.00	\$200.00	\$1000.00